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WOMENS STUDIES
PAPER —1I

Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1. The author of the book “The Dialectic of Sex” :

(A) Betty Friedan
(B) Shulemith Firestone
(C) Kate Millet
(D) Helene Cixous
2. The recent International Conference on ‘Racism” was held in :
(A) Durban
(B) Rio-de Janeiro
(C) Cairo
(D) New York
3. Name the health programme aims at improving the health status of women and
children :
(A) ICDS
(B) IRDP
(©) RCH
(D) ORS
4.  The deficiency of ‘estrogen’ in women’s body leads to :
(A) Menarche
(B) Obesity
(C) Menopause
(D) Diabetes

5.  The First Indian Woman Legislator :

(A)

Kamaladevi Chattopadyaya
Durga bai Deshmukh
Indira Gandhi
MuthuLakshmi Reddy
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6.  The three main goals of the International Women’s year :
(A) Equality, Development and Peace

B) Equality, Development and Sustainability

Empowerment, Development and Peace

Advancement, Development and Peace

7.  “Norplant” is a :
A) Medicinal Plant

(
(B) Surgical Device
(
(

C) Hormonal Contraceptive
D) Rejuvenating drug
8.  The first Research Centre for Women’'s studies was set up in :

(A) Alagappa university
(B) SNDT University

(C) Mother Teresa Women'’s Universtiy
(D) Jawaharlal Nehru University

9.  Which of the following is not a characteristic of a matrilineal society ?

(A) Power is vested in the hands of men

(B) Lineage passes through mother
(C

(D

) Power is vested in the hands of women
)

Property passes through mother

10. Vienna conference on Human Rights was held in :

(A) 1979
(B) 1989
(C) 1990
(D) 1993

11. Who is of Indian Origin among the following leaders ?
(A) Margaret Noble

(B) Mother Teresa

(C

(D

) Margaret Cousins
) Margaret Alva

D—-7404 4
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12.  Which of the following statements is closer to the discipline of women'’s studies ?
(A) Critical understanding of women’s Education

(B) Critical understanding of socio-cultural constructs of women

(C

(D

) Collection of information about women
) Studies about women by the women
13. Who was the editor of ‘Inquilab’ ?

(A) Madame Cama
(B) Mahatma Gandhi
(C) Aruna Asaf Ali
(D) Ambedkar

14. ‘Sex appropriation” means - behavioural patterns exclusively associated with

(A) Male

(B) Female

(C) Both Sexes
(D) Any one sex

15. Which state in India has the highest percentage of female work participation as per
2001 census ?

(A) Andhra Pradesh
B) Uttar Pradesh
Kerala

Maharashtra

16. Which of the following statement is not related to ‘Structural adjustment Programmes’?
(A) Drastic reduction in social benefits

(B) Number of women in the home based sectors are increased

(C

(D

) Poverty alleviation programmes are becoming the main focus of planners
) Reduction in the Gap between rich and poor

17. “Gender budgeting” Means

A) a separate budget for women

B) a separate budget for men

C
D

(
(
(C) a separate budget for women’s empowerment
(D)

gender commitments into budgetary commitments

D—-7404 6
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18.

19.

20.

21.

22.

23.

‘The other” concept was introduced into feminism by :
A) Socialists

B) Existentialists

C) Liberals

(
(
(
(D) Radicals

)
)

Harriet Taylor and ].S. Mill had difference of opinion in their views on :

(A) Education for women
(B) Co-equal share

(C) Partnership in the labour force
(D) Rationality

The term “Misogynist” means :
(A) Hatred of women

(B) Hatred of men
(C

(D

) Hatred of religion

) Hatred of equality

The “Sarva Siksha Abhiyan” aims at :
(A) Vocational education for children
(B) Compulsory primary education to girl children
(C

(D

) Quality elementary education to all children
) Education for all women

Who compared the ‘privileged * women to “the feathered race” :
(A) Betty Friedan
(B) Harriet Tayler
(C

(D

) Marge Piercy
)

Mary wollstone craft

In which year the ‘National Policy for empowerment of women” was announced ?

(A) 2000
(B) 1995
(C) 2001
(D) 1990
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24.

25.

26.

27.

The strategy propounded by marxist feminism for women'’s liberation is :

(A) Getting property rights for women

(B) Access to quality education

(C) Mainstreaming women into workforce

(D) Reproductive technology

Assertion (A) - Discrimination against women will not be abolished by modifying
laws done

Reason (R) - To implement the law states and civil society lack commitment

(A) Both (A) and (R) are True
(B) Both (A) and (R) are True and (R) is the correct Reason for (A)
(C) Both (A) and (R) are false
(D) (A) is false and (R) is True

Assertion (A) - Women are well protected from the impact of globalization :

Reason (R) - During structural adjustment process, the deprived are fully safe
guarded through safety-nets.

(A) Both (A) and (R) are False
(B) Both (A) and (R) are True
(C) Both (A) and (R) are True and (R) is the correct explanation for (A)
(D) (A) is True and (R) is False

Match the following documents and the year :

List - I List - II
(a) Towards Equality (i 1988
(b) Shram Shakti Report (i) 1985
() Forward Looking strategies (i) 1974
(d) National Policy for Empowerment of women (iv) 2001

a b c d
(A) (i) (i) (iv) (1)
(B) (i) (1) (i) (iv)
© (i) (i)
(D) @) (i) (i) ()

7404 10
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28.  Which of the following pairs is not correctly matched ?

(A)
(B)
(©
(D)

29. Match the items from List I and II

/‘\/(‘3\/\/\
ROIEARCEAC)

Rajaram mohan Roy

Mrs. Annie Besant

Dayanand Saraswathy

Swami Vivekananda

List I
NORAD
CAPART
NIPCCD
NCW

N 0O

= N

W O W o s~ Y WO
(@]

B~ T N TR oo =RT
N N0
e o U o W C* R o T N o

N

B W N

- Brahma Samaj
- Theosophical Society
- Arya Samaj

- Prarthana samaj

List II

Protection of womens rights
Rural Development

Training Cum production Unit
Child Development

30. Match the list of authors and their books :

\g/l\—/

~_~ o~~~
(@)
~

£

D—-7404

List I

M. Krishnaraj
Vandana Shiva
Arundati Roy

Germane grier

a b C d
3 1 4 2
a b C d
1 3 4 2
a b C d
3 1 2 4
a b C d
3 2 1 4

SOOI NS Y

List II

Staying alive

God of small things
Women’s Studies in India

The Female Eunuch

12
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31. Which of the following statements is incorrect ?

Low birth weight babies have higher chances of survival
Son preferences leads to high fertility
Powerlessness of women leads to poor utilization of health services

Higher education of girls leads to Higher age at marriage

32. Among the following women who has not became a Chief Minister of Indian states :

Mayawati
Sushma Swaraj

Shiela Dixit
Nandini Satpati

33. Child Marriage Restraint Act was passed in the year :

(A)
(B)
(©
(D)

1929
1976
1982
1961

34. The firtst country to adopt a National family planning programme :

(A)
(B)
(©
(D)

China
Srilanka

India

Japan

35. Which of the following Pairs does not match with “Man-Woman” ?

Culture - Nature
Private - Public
Sun - Moon
Active - Passive

36. Identify the policy approach related to the statement given - “We women will discover
what we need for ourselves and get it for ourselves” :

(A)

Anti-Poverty
Equity
Welfare

Empowerment

14



31.

32.

33.

34.

35.

36.

1 o | T weH Y § 2

(A) S % GHATTER aTet Forggsti o6t Saestiferar o sifereh sTaer .
(B) A % feru stferrar eafersh Seltar et €.

(C) Tfeensi wi wfsafaiar ¥ Tarees Jansii 1 31eq STAT g1 Tl .
(D) ISRl =t 3= foren g 9 faare =t o1y «ff 3= &1 9 &,
e # Afgentsti ® 9 9% i ¢ i1 foh forelt IR Uo7 st A=t 781 -T2
(A) W

(B) AT TS

(C) ften Sifard

(D) AT Heqedt

a1t foreme fam=ror stfyfam <9 = & wifka getm o :

(A) 1929

(B) 1976

(C) 1982

(D) 1961

T URER FSH SRishH &1 Wihd SHarell Y T hid |7 o 2
(A) =

(B) ekt

(C) ¥RaaH

(D) SHHE
ﬁﬁ'ﬂ"jﬁﬁﬁaﬁqﬂTﬂ“ﬂ”Man-Woman”@ﬁﬁﬁﬁ% -

(A) FEHfd - UH

(B) AfFITd - HENw

© - EE

(D) Hfsra - TfsRa

“We women will discover what we need for ourselves and get it for ourselves”.
39 HYH § TG ST HiTd fomees g ¢ 359 fafea wifsg

(A) - Tqga

(B) - 9r#Idn

(C) - DA

(D) - HRIFHhHT
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37.

38.

39.

40.

D

Match the following from I to II

/‘\/{‘3\/\/\
&\—/g\_z

List I List II

Engels 1 Socialization domestic Labour

Juliet Mitchell 2 Dual Systems Theory

Freud 3 Origin of family and private property
Margaret Benston 4 Biological determinism

= 0

B~ N

@) N 0
W a R a bk a N A

B o WY WY =
N oo NN TR T W T

—

Assertion (A) - Millions of women are missing from global population

Reason (R) - Women are the victims of various forms of gender violence
(A) Both (A) and (R) are True

(B) Both (A) and (R) are and (R) is not the correct Reason for (A)

(C) Both (A) and (R) are False

(D) Both (A) and (R) are True and (R) is the correct reason for (A)

Assertion (A) - In India 97 Percent of the sterilization are Tubectomies

Reason (R) - Vasectomies lead to impotency

(A) Both (A) and (R) are True

(B) (A) is True and (R) is False

(C) Both (A) and (R) are False

(D) Both (A) and (R) are True and (R) is not the correct reason

Assertion (A) - Women are becoming increasingly effective leaders of community

based organisation.

Reason (R) - NGO’s and development agencies are involved in gender sensitive

0=

S o

—7404

development programmes
Both (A) and (R) are True
Both (A) and (R) are True and (R) is the correct Reason for (A)
Both (A) and (R) are False
(A) is True (R) is false

16
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41.

42.

43.

44.

45.

Assertion (A) - Sexual harrassment in the workplace affects millions of women around
the world

Reason (R) - Women enjoy pornography sexist comments and jokes
(A) Both (A) and (R) are True

(B) Both (A) and (R) are True and (R) is not the correct Reason for (A)

(C) (A) is true (R) is False

(D) Both (A) and (R) are false

Among the following states which has the lowest sex ratio as per 2001 census ?

(A) Haryana

(B) Kerala
(C) Maharashtra
(D) Punjab

She proved that in the hunting-gathering society the major contribution was that of
women :

(A) Margaret Noble
(B) Margaret Mead
(C

(D

) Simone de beavoir
)

Mariarosa

Among the following reformers who predicted the use of reproductive technology for
the liberation of women ?

(A) LC. Vidyasagar
B) Ranade
Periyar Rameswamy

)
D) Kandakuri Veerasalingam

Name the new programme which extends rehabilitation services for “Women in difficult
circumstances” :

(A) Swadhar
(B) Swayamsidha
(C

(D

Swa-shakti

)
) RMK

D—-7404 18



41.

42.

43.

44,

45.

aafiere (27) : hEE W AT Scdte g, fovd § 9 Ml W ol Afged g4iferd

B € |
HROT () : Afgad, Aveiiel oiEd, wfitherel feufirEl iR afe™ %1 MR
HLA S

A) (30 AR (V) A FAE |

B) (1) 3 (V) BF g &1 3R (V), (37) il Tl R0 T & |
C) (31 TAE 3R () AT |

D) (&) AR (V) T EAE |

~ o~ o~ o~

T 2001 ! ST % STTER 11 | § foha voa 8 Fregam oifites o1 € 2
(A) =i

(B)

(C) WeNIE

(D) ST

I fag fohan fof sees - doam wearet gare 8 afgansii &1 areH € 91 §:
(A) HAFRE Aee

71 5§ fere Geren = wfgensti ot qfer o T AT qehriteh o SUAIT ol iferszraroit
%l off 2

(A) 3. 9l fommarr

(B) e

(C) R THmETH

(

D) Il STy

e gifeafaal § Afgensii & fow a8 =12 wriwH o o1 € 5t foh 379 fag garg dan
U AT & ?
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Instruction : Read the passage below and answer the questions that follow, based

on your understanding of the passage

Women's second class status carries a financial and social cost, and not just for

women. Men, and society in general, also pay a price.

For this reason empowering women is a central aim of sustainable development.
As Nobel laureate Amartya Sen has observed, the “overarching objective” of develop-
ment is to maximize people’s “capabilities” - their freedom to “Lead the kind of lives
they value, and have reason to value”. It is not only a matter of economics : as Dr. Nafis
Sadik has said, “Better health and education, and freedon to plan their families future,

will widen womens’s economic choices; but it will also liberate their minds and spirit”.

Empowerment and equality are important human rights aims in themselves, and
an exclusively economic analysis of gender inequality would result in “commodification”
of women and men. However, the economic dimension should not be ignored :
promoting gender equality also promotes the stable growth and development of

economic systems, with social as well as strictly economic benefits.

Much of women’s work, paid and unpaid, has an eonomic impact, though their
contribution is rarely noticed or fully quantified. If it were recognized for what it is and
supported accordingly, its increased value will offset any costs or supposed savings

derived from inequality, for example, in women’s unpaid farm labour.

Inequality between men and women results in lost oppurtunites and prevents
mutual gain. In general, discrimation: Diverts resources from women'’s activites, some-
times in favour of less productive investment in men; Rewards men, but also some
women, blinding them to productive alternatives; Obstructs social as well as economic
participation and closes off possible partnerships; Reduces women’s effectiveness by

failing to support them in meeting their responsibilities, challenges and burdens.
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frder: e erT=ty w1 ufey qem v faeIt SIER 313U swenfia o fau u

Y9I ohT ST GIfST:

TfgensTi &1 70 WR (second class status) 397 WY Teh fa<itar T WM Hed
Ve TErdn § a1 g Afecnsdi & fau = 9 981 § | 5, 991 9 9k 9 9E ot
ST T Jod FohM ¢ |

T HROT F ik foera & fag afeensii w1 aufaasion uw wia aeg ¥ | S fe
Frae QR § TG STHEEH 3 Jeqo1 fohan €, o faerra &1 @1fy faf=a (Overarching)
eI T TN Rl &THAIA” ! SoqH ST ~ T e 1 3 goaa™ 9rd € iR 39 i
MEd & SHH T 3= Todw=Id1 SUeTedl KU1 1 ohl I SiTa I19 T HROT off 37 I € |
T8 71 hadl AU 1 & I T T S A SRR TR |ifew  FEl § 4R T
ey U9 fYret, 9« o19H 9Ran o vfas ol Faifsa & ot Taadn 98 99 fHere
Tfgensii & emefier fasheul & fagga amiit —3iR W & S+ Afshi ud fost 1 off g
ST |

HYIRIehE0] TE HMA T H T ISR & Heaqul @ed 8 TR ifiTeh STHHMT &
3 AR 9 snfYfer faversor g0 w1 uRomm wAfeansti Td el o garefieRiu
(Commodification) % ¥4 H Yehe T | fRT o, aTifeleh el ot eTeE a1 BT =1feT:
TR T 1 Hi=Td i © 3Tifeleh gonfer ot feer dafg den 37k fasma § iifa gt
T IR W & W 3 frameg sTifede oy off ura g ¥ |

HigensTl gRT foma T i, Haa STera 3Tadi-eh, 39 I ol Weh STk JuTd BIdT
T Al 3 e 1 H forel St A fon S § steren SHeR! IO B S © | AfS
3Tk I ET & TTER $H AT ol ST qA7 $H STTER 36 AT e sme-dr sqem
Rafd 7o forgl ATl sl STeran STfad S=d i Sl ohi STHHMAN ¥ Fi= § - 3]
fregenfaa =2 m, e % fau afeenedi gry @i # fomen T it i 3reafae € |

el wd Afgenedl § STHHEar o qRomm T gIreed % 9 § Yehe gl § ael
YREGReR 1Y 1 FeRT hea € | 9 ®9 9, YeuTa: Afeaneil & o & o]
I T TR HIS <1 €, vl Felt Jul & STHelhd A STATGARIN 1At st 3TR q&sl
qRERT T ¢, T T Afeed ff IR 81 S €, Scaeeiiet faehedt & ufd 3= stam
A1 @1 | ek SR enfieR wriie @i off anfua whean €. Afeensii o SRt
TRl e R 1 THeiA A § TR IR 97 Afeeniet o GHIfau i = R S € |
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46.

47.

48.

49.

50.

Amartya sen views “Capabilities” as :

(A) Leading a life one likes

B) Freedom to lead any kind of life
Living valued and reasoned life freely

Reasoning out the life one wants to lead.

Development is a matter of :

(a) Economics (b) Health and education
(c) Decision making (d) Non participation
(A) (a) and (c) only (B) (a), (b) and (d) only
(C) (a), (b) and (c) only (D) (a) and (d) only

Which statement reflects the right perception of the passage ?
(A) Economic development results in gender equality

(B) Women's labour will bring in more savings

(C) Gender equality promotes socio-economic benefits
(D) Women's resources are diverted to men
‘Commodification” is the result of :

A) More economic analysis of gender inequality

B) Analysis of economic dimensions

Analysis of stable growth and development

Analysis of social and economic benefits

The Central theme of the passage is
(A) Economic inequality of women
B) Sustainable Development
Women’s work

Socio-economic cost of gender inequality

-00o0-
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47.
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50.

3T T 7 gared” bt fe &9 9 <e €
(A) St frdt T oTesT TRl 39 € Sied 9 S §
B) fohdl «ft UehR o1 Sfter i i o=

(
(C) HoHAM Td HhRUT Sfia il T&d= &Y & S0
(D) ST g S ohl ST ATEdl & SHh! R hl Yehe HEAT

far e w1 Tk fama ©

(a) 3T (b) EoTEeH TS e
(c) Trorem fsman (d) ST-HgHI

(A) A (a) 3 (o) (B) e (a), (b) 3 (d)
(C) e (a), (b) 3 (c) (D) e (a) R (d)

i 91 U 39 STT=E o STad T b1 Fafsitad sar g ?
(A) 3Tk s <t uftoms <ifites Tama % &9 H g &
(B) Hfecsi &R ¥ & IR ik o= Ut &1 Fehh

(C) ifiTeh AT WIS STffeh @il bt W= el ©.
(D) HfecnsT & GHreH gl &t 31 Hie fod o €.

TeTeRUT (Commodification) T+ & gftums @&y g
(A) AT T 1 |1 I foweroor

(B)  3Iffeh SATATHI k1 fergetwor

(C) uia Hgfg wa fasma o1 fawero

(D) WIS Ta 3TIfeleh medi aht fageroor

TH T8 Hl h A [oTTaas] © -

(A) TfgersT | STHHME

(B)  Td forehrd

(C) Hfeensii o w

(D) AfiTeh STHHTAT ! AT STIfefe rTd

-00o0-
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Space For Rough Work
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